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#E Fre g w1 PRt mem A A V = Vi @
T W g | e aw 39 fagg-grasde air @
foga-a= QoM +y W b W B | d9 W

forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) -—zfem
(2)  +zfaam
(3) —yfem
(4) —xTesm

fopeht forom & vared o1 gedaie /2 IR fisH @ w
30° 2 | fr5w & @ omads ol H H wh &l Al
TeTeRt i 1 T I AR T 2 | G HAE |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g % 9vErd) 6 9% W N S ST,
afe firsa W STT9a o 1 A= R

(1) 60°

(2) 45°

(3) 30°

(4) IA

ot T T 60 mA 1 GRT JaTlEd HH W IF Wb |
Gfea gresh feafast St 1 91 25 md 3 | 30 W
T YThed B

(1) 0138H
(2) 13888 H
(3) 1389 H
(4) 1389 H

aﬁéﬁwmcmqﬁwaﬁ%%ﬁmﬁﬁwﬁ
40 cm gl W fed 7 | 9fE 39 forest w1 g <At foan 4
ZOCmFWWWWW,ﬁHﬁﬁWﬁmﬁ@
o fereenfia & Smem 2
(1) SOCm?TFT'UT@E;{
(2) 36 cm U H F
(3) 30 cm TYUI % U
(4) 36 cm TYUT & UTH

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) + z direction

(3) -y direction

(4) —xdirection

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 45°
(3) 30°
(4) zero

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0138H
(2) 13888 H
(3) 1389H
(4) 13-89H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1) 30 cm away from the mirror

(2) 36 cm away from the mirror

(3) 30 cm towards the mirror

(4) 36 cm towards the mirror
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fomr 4 fo o 1S &% wEeE O fefa Y 1 fewt A e
B % 92l H 39 YhR ¥ad fehIT ST HehdT &

Ae

Be r>° Y
>

(1) A.B
2 A.B+A.B
3 A.B+A.B
4 A+B

feu T ufwy sm@ #, fEw deed (V) 20V,
Vpp =0T Vo =07 | I, I 3R o |H &

20V

(1) Ig=40pA, Ig=10mA, B =250
(2) Ig=25uA, Io=5mA, f=200
(3) Ig=20uA, Io=5mA, =250

4) Ig=40uA, Io=5mA, =125

fopeft p-n |fYr srie & 7 B9 @ q § dfteda

(1) o gopd (Tad) ufedier st i tar 2 |
(2) haet T Yfekle sl THIIG LT 7 |

(3) p-n @l & gfeier 1 geferd & Sar B |

(4) p-n T F TETV — 1 ATYAT T JHTIId
21

In the combination of the following gates the

output Y can be written in terms of inputs A and
B as

Ae 0

Be [ > Y
>

(1) A.B

(2 A.B+A.B

(3 A.B+A.B

4 A+B

In the circuit shown in the figure, the input
voltage V; is 20 V, Vgg = 0 and Vg = 0. The

1

values of I, I; and B are given by
20V

(1) IB=4OHA, IC=10mA, B=250
(@) Ig=25pA, Ig=5mA, B=200
(3) Ig=20uA, Ip=5mA, B =250

4) Ig=40uA, Ig=5mA, p=125

In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance
(2) affects only forward resistance
(3) does not affect resistance of p-n junction

(4) affects the overall V — I characteristics of
p-n junction
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10.

11.

Frsam < o1 ig g e fommazen | et v g o
fiRar 8 | v o % HROT 3EH FSAT I Bl B |
M & oifqg (effaer) a9 W 3w = H X

frfefaa o & fopeeh STIsRUTIITdT Bt 8 2
1
2 r?
3 1
4

M € (1:013 x 10° Nm™2) 3R 100°C 99 W
0-1 g I % T ®I 100°C hT 919 H gREfdd F &
AU 54 HeA ST ! H EIHRAT BN 2 | IR
39H WM H AW 167-1 cc 7, 91 39 I H
SR ol 8§ giEd 8

(1) 104:3J
(2) 2087J
3) 42:2J
(4) 845J

g R TEE Y % §9 7 I gEI ok A ft wue
g | U8 TR I AIIEAFIE H &APA A 3T T AR
h IATRI-FE FH &TFA 3A & | IC 9a F AR
UE IR I s H Al I gl S 2, d1 g R
# T 7 oft sat @ 3fg FE F fow fea s@ A
STITIHAT Rt 2

1) 9F
(2) 6F
3 4F
4 F

foreht pfwormr gro faferfa wifsd P 2 e @ e,
o W Ffeham ot faferfa et 2 1 o9 Ay
it 1 a9 ufafia = fen s 3, few 6 ww

%xommmwﬁﬁmm%w
gaeh g fafefd wifed nP &1 St 8 | n 1 AH g

(1)

(2)

W x| w

256
81
81
256

3

4)

10.

11.

A small sphere of radius 1’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) o
(2) 2
3) 1
4) 4

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 2087dJ
3) 42:24J
(4) 845J

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 6F
3) 4F
4 F

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ag, the power radiated by it

becomes nP. The value of n is

(D

(2)

[SCR RN N U

256
3) 222
3) 31

81

(4) 956
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12.

13.

14.

‘0’ gdEm giigeh &1 ag=, a8 yd® @1 iy
R 2, Jvfshn § fIar.sd (emf), ‘B’ 3R 31=diieh
gfe@ie, ‘R i et 9t @ afoa 8 | 9t @ ot 8
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
T gt fobam ST B | S @ ot W8 g 10 1@
I B | ‘0’ BT AN B

(1 10
2 11
3) 20
4) 9

1% el Arafes gy o 9, Sufishy § w9, o’
TdEH Al (T n giEd] 2) ¥ S 7 | 9l *
At o1 orgued ek g I ATt E 7 | fem mn
HA-ET 6 13 n & i qE Gy HI AT 7 ?

I—
@ !
(0] —n
I
(2) T i
0 —n

I

(3) Ti
O —n
I

4) f i

(@) —>n

(47 + 4-7) kQ ety = fop) heA-afaQues W, gga
% T, fafy ot & e sifera fope o9 & | avf g
%1 3HH AT

(1) ol — e — et — =i @

(2) el — ST — A - =i o

(8) e — 80 — ST — AR

(4) B - — ST - g

12.

13.

14.

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 10

2 11
(3) 20
4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I—
a !

O —n

I

(2) T
o) —n
I

@ !
(@) —>n
I

@ !

O —n

each) which are connected in

A carbon resistor of (47 + 4:7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1)
(2)
3
(4)

rings colours for its

Violet — Yellow — Orange — Silver
Yellow — Violet — Orange — Silver
Yellow — Green — Violet — Gold
Green — Orange — Violet — Gold

LAACH/PP/Page 5

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



15.

16.

17.

18.

f=fefiad @ @ -9 F9 F@eT B 2

(1) el gy gdf =¥ § w5 gaT ? |

2) fqe odu = Hima o stfiers afafsen &
SSHUTATA BTl B |

(3) =N & Imuferer Tfa w1 fatie wwar & |

(4) adf = o i fommd Twetg i fomn % TEE
B & |

TS m T Teh Taefiel 2T, 4m goauH < foreft

TR R ek ¥ HHg AT § | HOE % UTET, gl

ekl folm sra%en § o ST 2 | A ook ek I

IRCYh AT v &, d1 I UMk (e) T TH &I

(1) 05
(2) 025
(3) 08
(4) 04

@ # g9l FgER HurE h & wfoRfzd vy % sfew
form 3Teen A T ITeT i fUvg, A AB = D &
Healer g I Sh-3Nh IU HT 2 | 99 S8 h Feft

h B
o
l A
CUE
2 D
(3) % D
(4) %D

= fovg, A : (T 3™ @), B : (TH dact JamehR
FHd) qA C : (Th JAHR Bgl), oW g3 *
TeqqE M qen B R R, @9 g O o 8 A9
Tmfife 3.7 o Uid: =hol L @ & | 30 foRmmaEer
M & e fhr S 9l stevEs AT (W) & fofe
HIF-|T TEY TE 7 ?

(1) Wg>Wg>W,

(2) Wy>Wg>Wg

(3) WB>WA>WC

(4) WA>WC>WB

15.

16.

17.

18.

Which one of the following statements is
incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Limiting value of static friction is directly
proportional to normal reaction.

(8) Frictional force opposes the relative motion.

(4) Coefficient of sliding has
dimensions of length.

friction

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 05

(2) 025
(3) 08
(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
(1) %D
2) D
3) %D
@ 2D

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ®w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wy>Wg>We
(3) Wg>W,>Wg,
(4) Wr>Wi>Wp
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19.

20.

21.

22,

Toret wafer fguar w1 3w foreft Tt i i Aot &
3G 3799 i o fore fomenm w7, forew oy wew
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
gy &1 SR 320 Hz 2, @1 g § & &l 27°C W
an g

(1) 330 m/s
(2) 339 m/s
(3) 350 m/s
(4) 300 m/s

i3 golael formmaen @ fhet whem™ qum SR H
Seate fgq-49 E § ®5 § T8 g, h, a1 2 | s @
foga-am &1 o swufEfda wd gu sweht fom
Iohiid L & STt B | TRl Wi Wi formTeren @
31 & Fealer gt h 9% 8 e o Sran @ | Wed
% i ¥ fofw e wme < go | soiae g fRd |
ot v R

(1) <H

(2) 57T 3Tfreh

(3) 10 AT Afoeh

(4) "EE

I3 AlCTeh Teh I SHo HaT 6 Td & Al 2 3N
W MEd aleish hi Aifd gad 9 9 WA i
w e | e feufd & 5 m g W He Mo H
TR 20 m/s? ® | I ST SATEAhIA &

(1) 2ms
(2) ms
3) 2s
4) 1s

e Q % Tt fogea Tmmm wfgemr @enfr ¢

SIh A ITeft 9T1q <l Ufgepredt & = fer-aga s

(1) et o dte i gft Wk 72 @ |

(2) dfgwisl & o= h1 gl % Washd: g
BT g |

(3) dfgeiatl & o= I gt & A  STIHAIA!
a1 2 |

(4) ufgati o o= 1 g % FopHUTd BT B |

19.

20.

21.

22,

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 339m/s
(3) 350 m/s
(4) 300 m/s
An electron falls from rest through a vertical

distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller

(2) b times greater

(3) 10 times greater

(4) equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2mns

2) ms
3) 2s
4) 1s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2) linearly proportional to the distance

between the plates.

(3) proportional to the square root of the
distance between the plates.

(4) inversely proportional to the distance

between the plates.
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23.

24.

25.

26.

AR AV = Vo1 (Vy > 0) 3R ZEE m
w1 W W B BEReT B - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI ISl almeed 4y B, @ §WE ¢ W
EEE TR i i R

Lo

(1 + eEo t}
mVO

eEO t
rnVO

(D

(2) Ay (1 +

3) Mgt
@) 2

forelt Wegatfoea werd 1 srdamyg 10 fime 3 | afe

AT | ifirenl i H&I 600 B, A1 450 TRl
forafea g9 o o aen wm (e ) 2

(1 20
(2) 10
3) 30
4) 15

S foRet u1g % g8 W g 2v, (IET v, g
SR B) T TR MY LT 8, al Icarord soragii
W1 AR AT v, B | I AMfad fafeon i ST
e By, L & Sl @, q IH T8 Ie@hrd
SAHIHl 1 AfHAH AT vy B B | vy I vy H

3T 3
1 1:2
2 1:4
3) 4:1
4 2:1

gIggoH T 1 TRt S when # fopet g <Al
Tiferst Tt 3 3Hh! Pt ol BT I BT

1 1:1
2 1:-1
3 2:-1
4 1:-2

23.

24.

25.

26.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

Ao

[1+ eEo tJ
mVO

cE 0 t
mVO

(D

(2) Ay (1 +
3 At
4) A

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 20
(2) 10
(3) 30
(4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1) 1:2
2 1:4
3 4:1
4 2:1

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 1:1
2 1:-1
3 2:-1
4 1:-2
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217.

28.

29.

30.

g A A A

95 (2,0,-3) WHEA A F =41 +5j — 6k
g (2, — 2, — 2) % 9Rd: el grm

A A A
(1) -8i-4j -7k
@) -—4i -] -8k
3) -71-8j -4k

A A A
(4) -7i-4j -8k
A I § o foRell foehd M@ 9 ABC W m

TEIH T I3 sl AR fEd 8 | 38 o sl grff
3T 1§ a0 ‘@’ feam <mar B | cifeh sl o9 W féR

T & U a 3 0 & <= gay g
A
2
a
m
C B
1) a= 2
cosec O
_ 8
@) a_sine

(3) a=gcos0
(4) a=gtan®

qﬁs‘ﬁaﬁiwﬁammq%%ﬁw
fogaaer B % wra # foeft erfordte e 4fos 7o
W HE 8 | T HHUS b FaUd H 9 q E
SR ZGHT AT 0 ¥ 6 m/s B SGT 7 | I &0
T8 1 feo Somfia o & W B | 39 &9 %
Y9 § SR TR g YU ek T Hdl Wt g | 0 |
3 UHvE & o9 RaelT R & ftEd on IR 3fEd
I U §

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

(3) 1m/s, 3-5m/s

(4) 1-6m/s, 3m/s

Torelt B = 3TUTA T Y g % AT I AT 0-001 em
JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
S R | A Tp T # = I — 0-004 em 7, A e
T T A B

(1) 0521 cm
(2) 0525 cm
(3) 0053 cm
(4) 0-529 cm

217.

28.

29.

30.

- A A A

The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by
1 -81-4j -7k

AN A A
(2 -4i -j -8k

A A A
3) -7i-8j -4k

AN A A
4 -7i-4j -8k
A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
2
a
0
C B
1 a= 2
cosec 0
g
2 =
@ a=a00
(83) a=gcosH

(4) a=gtan6

A toy car with charge q moves on a frictionless
horizontal plane surface under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

1) 2m/s, 4m/s

(2) 1m/s, 3m/s

3) 1m/s, 3:5m/s

(4) 1-5m/s, 3m/s

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm
(2) 0525 cm
(3) 0053 cm
(4) 0529 cm
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31.

32.

33.

AUFAR AT gere % fRHl TEAd g WIS
agfad YT I ¥ MU war 7 | foRet o
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) wafdd v gfad 8 3 gae fogq afew
YA % I o GHI B

(2) wWEfdd Y™ gfad 8 3R sHes fagq |few
HYGH o el o oeeead 8

(8) i=sint (EJ
n

(4) i=tan! (lJ
u

I < fgfert wam o, forfeni & &9 gehd d, 2 mm 2
aon forft @ 9 1 gl D FT 100 ecm T gW qweHA
A = 5896 A % YISl T IUANT foRam TR B | I AR
T T et <t shivfiT =ets 0-20° 8 | @9 (ST A 3R
D % forw) fibsti <t =hiviia =SS &1 age 0-21° &

& foru Tt & ofter 3 grehd =1 st B
(1) 1-8mm
(2) 19mm
(3) 2:1mm
4) 17mm

el @it srad] qEEi w1 i sad s
3 shiofy fasig 3= im, afe saeh stfirgyees o i
(1) ®IhE gl 7 3R = w2 B

(2) IhE gl 3Tk 3N =mE BT

(3) ThIRH gl I 3R =TE FST 2

(4) HIHE g F9 3N AE B &

31.

32.

33.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

(2) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(3) i=sin! (EJ
u

(4) i=tan! (1J
1)

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1-8mm
(2) 1'9mm
3) 2:1mm
(4) 1'7mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and small diameter
(38) large focal length and large diameter

(4) small focal length and small diameter
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34.

35.

36.

37.

forelt ThTRHTU A| % IAH (V) § A9 (T) & e
o=t % § S STgER BN @ | ofE e A #
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

w%ggmﬁamwagm%
T B
A
0 —>T
D %
) g
®
@ 2

forelt go1 AT d1sd I g g R S AT
q15d % gl U (GETE) AR b wHE R |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
q1gd hi TS BT

(1) 13-2cm

(2) 8cm

(3) 125cm

(4) 16cm

A & T R FGYTIh & o9 HEd fmel oTmes

ST S5 hl 28T Bl 8
(1) 268%

(2) 20%

(3) 625%

4) 12-5%

fopg @ W SIS JTueT I a WIS A (rms)
1A gt o IAYATSA ¥ TARH L Tehd o foIT AT
T BT St ?

(e a2

IS % 3T T FHH (m) = 2-76 x 10726 kg
S R ky = 1-38 x 1023 J K1)

(1) 2508x10*K

(2) 8360x10*K

(3) 5016x10*K

4) 1254x10*K

34.

35.

36.

37.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

[N Wl W o oo

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 132cm

(2) 8cm
3) 12-5cm
(4) 16 cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 268%

(2) 20%

3) 6:25%

4) 12:5%

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 10722 J K1)
(1) 2-508x10*K
(2) 8360x10*K
(3) 5016x10*K
(4) 1254x10*K

LAACH/PP/Page 11

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



38.

39.

40.

41.

0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 9 B I 380 fIgd
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I for we & fau s yerfga a2

1) 714A
(2) 598A
(3) 1476 A
(4) 11-32A

20 mH %1 s Ik, 100 pF 1 hI GRS q5T 50 Q
1 ®1g Tfqliesh, fa.a1. s (emf), V = 10 sin 314 t
& forelt &iq @ Jvft o wafoa & | 3@ ufy ° wifd
DR

1 079W
(2) 043 W
3) 274W
4 113W
fopelt ford-grees % gal & st ufagreshg gere &

T Aol B¢ Searer fod 3 | 99 fogd-gres § 9/
YaTted i Sl 8, A1 98 B¢ &fdsl grehid & § et
FW H AR Thd G T 2 | 3T THR g B Tecd
feufas ot oo et @ | UH R % T ek
i LT 7

(1) fogq @
(2) TR &
(3) BT % Uard shl STAh BT

(4) Y@ foega-g 1 fop uftad! gradhm & @ 3caa
a1 8

foreft =t Fselt freammnfiet it g gnfear 5 div/mA
3R dlleed! GoTiedr (T T3 dleedl H 3cqa hiv
fag™) 20 div/V 2 | 30 AeamHie &1 afeliy B

(1) 40Q
(2) 25Q
(3) 250Q
(4) 500Q

38.

39.

40.

41.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 714A
(2) 598A
3) 1476 A
(4 11-32A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 079W
(2) 043 W
3) 274W
4 113W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from
(1) the current source
(2) the magnetic field

(3) the lattice structure of the material of the
rod

(4) the induced electric field due to the
changing magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 25Q
(3) 250Q
(4) 500Q
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42.

43.

44.

45.

Ife g *1 gemH %0 TAT B q9T A TeedTehy ol
feorp afmmor # 10 71 |, @ Frefafaa § @ w9
e 7T R ?

(1) 3l 6 < oxedt W afes auh & ot |

(2) o T T 3Tfeh hie & S |

(3) YAl W WA AMCish 1 STEdHIA HH & ST |
(4) gzt W g’ % A H gfEd T8 8 |

THh 3@ Ml e T H R | odled fd 7 agq i
T Tias i (K,) o @g-a gqoil 1ias St
(K,) o gl 8 | et o fe7e K, : (K, + K,) 1 3¥aTd
=l

(1) 7:10
(2 5:7
(3) 10:7
4) 2:5

T % =W AR el we § Thime 78 H feufa
A, B 3R C W Tfs St e Ky, K 3 K 7 |
AC < a1 7 aen i i feufa S SB feemgem &

AT ACH A 8 | 99

(1) Kp<Kg<Kg
(2) Kp>Kg>K;
3) Kg<Ky<Kg
(4) Kg>K,>Kg

IS 3T TIAT Yord RIS | 79T wfafa 31e1 o uita:
od 9 § YO R T 2 | 39 M I GEEH THE
TEd g 39h B # gfg 1 9w 7 | e % fau
ffoafaa § @ s difaes fyr feer @it 2

(1) HoflE 3w

(2) gcd st

(3) uff wfas et

(4) IO g

42,

43.

44.

45.

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Walking on the ground would become more
difficult.

(3) Time period of a simple pendulum on the
Earth would decrease.

(4) ‘g on the Earth will not change.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K) for

the sphere is

(1) 7:10
2) 5:7
3) 10:7
(4) 2:5

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kp<Kg<Kg
(2) Kp>Kg>Kg
3) Kg<Ky<K¢
4 Kg>Ky>Kq

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Moment of inertia
(3) Rotational kinetic energy

(4) Angular momentum

LAACH/PP/Page 13

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



46.

47.

48.

49.

50.

2:3 g HifHeh A YT 45 g FATTh A I TTg
H,S0, § T3 tam W 3cafsia e fasmr st KOH
% Bl ghel § TN I & | STP W &= §T 391G
T IR (g ) g

1) 14
(2) 30
3) 28
4) 44

Vel 1 AR Yed AT WEesw H R W

m-TTEINefA oft ST 8 ifeh

(1) wfcreamaes 1 3ufeyfd = e A15e! Tag g
ot m-feafa @ & St 2

(2) ToHREE gfoeums srfufen § v Ogg
m-FEeeR 7 |

(3) ufcwumges 1 srufeafs o Arge wHg wHEm
m-fefq ST 2

(4) ot (Jodt) "em | Uil et smm
FETH AR |

Frafafega & @ wH-H@ ileuss it waifus <l
Tepid 8 ?

(1) MgO

(2) BeO

(3) BaO

(4) CaO

UfireTE e Ui # fafiear 3

(1) U H 1 - 4 o999 991 1 — 6 o-89d
2

(2) UHEAEH 154 o T TN 1> 6 I 7

(3) UfeiNfEed § 1 4 o897 T 1 — 6 pFA &

(4) U e T AR 8 SR

firieh 9g 37T ATesh Sl o daH § Fefafed o

T HI-T1 HYT TT B ?

(1) s fafm W wgas geaet s o=
HEEASTeh HAEY Bd © |

(2) ;ﬁ%?qm@ﬁmmm@éswaﬁﬁ

|

(3) ShcITEE T HATHIA 38 ISR & |

(4) T TEAH A H TS HeHASTh Y
B2 |

46.

417.

48.

49.

50.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1 14
(2) 30
3) 28
(4) 44

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In electrophilic substitution
amino group is meta directive.

reactions

(83) In absence of substituents nitro group
always goes to m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

Which of the following oxides is most acidic in
nature ?

1) MgO
(2) BeO
(3) BaO
(4) CaO

The difference between amylose and amylopectin

is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 a-linkage

(2) Amylose have
1 — 6 B-linkage

1—>4 o-linkage and

(3) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(4) Amylose is
galactose

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They contain covalent bonds
various linear polymer chains.

made up of glucose and

between

(2) They are formed from bi- and tri-functional
monomers.

(3) Examples are bakelite and melamine.

(4) They contain strong covalent bonds in their
polymer chains.

LAACH/PP/Page 14

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



51.

52.

53.

3q Affshan

OH O™ Na*
@ + CHClg + NaOH ———> @ CHO
 AfrHfeTd soagETEl 8

®
(1) SRFANHIS g9 (CHCl )
®
(2) WIifdd gRE (CHO )

)
(3) SRFARMNA FUMRA (CHCLy)

(4) eSEFARGE (:CCly)

HIeifrdfctsh Tl o FIUATH THCT MVh FeIuH
e Ufcergel, e qo1 Ig 9% o Uewiaiel o
IHAM BId & | I8 Foreeh o g @ 2

(1) =710k gEgIeH a8 o |
(2) HIEIFIE 3R & §94 °

(3) HIaifedicish Tl sl AfYh AR AU ST
Ted SATHYO Sell o g Bl 8

(4) SAUANTIS g qe7 a4

T A B A, CgHy(O S o NaOI (Y 1 stfurfsman
NaOH & oieh s T1) | 1fufshan sk enerfores

T arert Gl a8 T B |
A I Y AT B

@ Hee —_ ) CH, - OH 31,
2) @— CH, - CH, — OH 3R I,
@ ¢ ) CH — CH; iR L,

OH

CHj

(4) CH, @ OH 3 I,

51.

52.

53.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®
(1) dichloromethyl cation (CHCly)

@
(2) formyl cation (CHO )

S]
(3) dichloromethyl anion (CHCI;)

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes, ketones
comparable molecular mass. It is due to their

and even alcohols of

(1) formation of intramolecular H-bonding
(2) formation of carboxylate ion

(3) more extensive association of carboxylic
acid via van der Waals force of attraction

(4) formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

1 Hg¢ < ) CH,-OHand 1,
(2) Q CH2 — CH2 — OH and 12
(3) CH-CH; and I
e
OH

CH,

4) CHg G OH and I,
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54.

55.

56.

57.

vom whife T fada wife srfifranatt § we) fofirran &

(1) vum wife &t Affspan w1 o sifiers 6t
grgaret | R T w7 fgdw @i
Al o1 a1 SAferRes 1 drgaret W At
1 &

(2) 9¥| =Hife ht Srffspan 1 -3y [A] ) W
Td #; foda wife 6 sifufsean 1 srdamy (A,
oz faeft B

(3) Tem whife <t ATfsHaT 1 3G fomam ST Tk
; facfrr shife v arfirforen =61 scifia =&F fopam <
Hehdl &

(4) woq wife I fulrar w1 a1 Afvws H
Frgaret W s g; fodfa =ife &1 stfufseen
1 AT AfHNH I Argarett | R & wan
8

CaH,, BeH,, BaH, § 3T Jehid T U 3

(1) BeH, < CaH, <BaH,

(2) CaH, < BeH, <BaH,

(3) BeH, < BaH, < CaH,

(4) BaHl, <BeH, < CaH,

Jra feu U e ®, s hr et StaEen #
ied fafie faar. o (emf) AFT W 0T TR

- 182V - 15V
BrOy — BrO3 —— HBrO

Br <T0es2v B2 “1hesv
H-E TS STEHTIe 8 T 7 2
(1) Bro;
(@ Bro;
(3) Br,
(4) HBrO

form feufa & STatr & 1Tt 1w sifireman B 2

(1) 18 mL <t & forw

(2) 018 g9 & faQ

(3) 1atmTd 273 KW 0-00224 L 3 59 & forg
(4) 10739 I & ferg

54.

55.

56.

57.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) the half-life of a first-order reaction does not
depend on [A]l,; the halflife of a

second-order reaction does depend on [A]
(3) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BeH, < CaH, < BaH,

(2) CaHy <BeHy < BaH,

(3) BeH, < BaH, < CaH,

(4) BaH,; < BeH, < CaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1) Brog
(2) BrO,
(3) Br,

(4) HBrO

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0-18 g of water

(3) 0-00224 L of water vapours at 1 atm and
273 K

(4) 1072 mol of water
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58.

59.

60.

61.

TifIEm T o (X) ¥ fufsk e T e
Aqffes sm@r B 1 A (X)) w1 Fmam oewem #
3@?{7‘&@%7&1'{1 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7

(1) MgyXy
2 MgX,
(3) MgyX
(4) MggX,

TR 1 FHE & T W bee T Bt & | 900°C
IR I fec TEAT | IR 81 AT 8 | TR o HA
% 9 W Ted T 900°C A9 W Hed | 3TUTd &R
(W RIT ST 1 AR GeaHH Td AT s ar
% @y fer §)

V3
® =

43
3v2
3V3
42
1

(4) 3

Frafafaa & @ wH-a1 FeH @ § 2

(1) ‘& ek H oG H1 HA helh IV Fam
T o S R |

(2) UH heh i Fared geaet g e 3 wefe
TH T § TH SO AR Fdied gesti §
ffdz 2 |

(3) N UTHI] Sl Soiareii-eh fo=md

(2)

3

162 252 2P} 2py 2p)
PO LA R

4) d 2 % T m % AH YA B |

Frfafea i | foem il
CN*,CN~, NO da1 CN

T ¥ frad S=au ey Hife 7 2

(1) NO

(2) CN~™

(3) CN*

(4) CN

58.

59.

60.

61.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyXy
(2) MgX,
(3) MgyX
(4) MggX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

1) X2
(D N

43
3v2

3V3
442
1

4) 0

Which one is a wrong statement ?

(2)

6))

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(8) The electronic configuration of N atom is
182 2% 2P; 2py 2p,

o L

(4) 'The value of m for dZ 9 is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN~
(3) CN*
(4) CN
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62.

63.

64.

65.

66.

67.

garHl & fou Fafafea 8 @ sH-a1 %91 a9 787

77?

(1) @t Tt TR Stfedt 3T ST 8 |

(2) @t ATadiepiep SAfirRe & |

(3) TARM % IrcmEr @i gdTcHeh  SATaIeR
HeETd RMMd & |

(4) FAKH hT Falteeh soiagH T80 Taed 3 |

frafafeaas & @ sH-a o= MFg‘ AT T A

e g 2

1) Ga

2 Al

3) B

(4) In

CIF; 1 @& H g WA ‘CI W THEhl g

TAFLHI <h! HEAT 7

(1) T

2 @

(3) =X

(4) o4

Tfem SR@ ® wH H WA gY Mefafed #§ @

HH-H GTg HT I VAT b uEIA § foRAm o

el B ?

(1) Fe

(2) Zn

(3) Mg

4) Cu

Frafafaa # @ 79 13 & a0l § wATfvges Brsmett &

S| Y HE B ?

1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3 B<Ga<Al<Tl<In

(4) B<Ga<Al<In<Tl

N-fehi § FTeh! SRR STaEAT 1 Heal g3t

T A B

(1) HNOg, NO, N,, NH,Cl

(2) HNO,, NO, NH,CI, N,,

(3) HNOg, NH,CI, NO, N,

(4) NH,CI, Ny, NO, HNO,

62.

63.

64.

65.

66.

67.

Which of the following statements is not true for
halogens ?

(1)  All form monobasic oxyacids.
(2) All are oxidizing agents.

(3) All but fluorine show positive oxidation
states.

(4) Chlorine has the
enthalpy.

highest electron-gain

Which one of the following elements is unable to
form MFg’ “ion ?

1) Ga

(2) Al

3) B

(4) In

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) one

(2) two

(3) four

(4) three

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe
(2) Zn
(3) Mg
4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<TIl

(2) B<Al<Ga<In<Tl

38) B<Ga<Al<Tl<In

4 B<Ga<Al<In<Tl

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNOg, NO, Ny, NH,Cl

(2) HNOg, NO, NH,CI, N,

(3) HNOg, NH,CI, NO, Ny

(4) NH,CIL, Ny, NO, HNOg
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68.

69.

70.

71.

frefafed & @ 99 T W A A Thed &HdT
ot vt 8 2

(1) hact 3TRE S A GRATT T

(2) haet TR o ATHR T

(3) IR & QY IRHTT g QY g gAl W
(4) haet IRE & AEY g W

Frafafea foe@ai w1 NaOH wa HCL i fim-fig
Hrgarall T TG o 8o 3 o= = 2

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL % HOCI+ 100 mL ~= NaOH
10 10

394 O fohgent pH, 1% ST 8T 2

1) b

(2 a

3) d

“4) ¢

BaSO, #1 298 K W 5a # faerar 2-42 x 1073 g1
& | fororar ot (K ) 1 7H g

KR a <l GOIH = g mol™
(fea T 8 BaSO,, 1 AieRk 233 1)
1) 108 x 107 mo1? 1.2

(2) 108 x 1072 mol? L2

(3) 108 x 10" mol? L2

(4) 108 x 10 mol? 2

NH,, H,, O, @1 CO, % fou arst aew oo
FAM: 4-17, 0-244, 1-36 ©H 359 few ww ¥ |
fFrafafea @ @ =H-H g o8 @ @ gfaa g8 S
77

(1) NH,

2 H,

(3) O,

4) CO,

68.

69.

70.

71.

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Size of the ion alone

(3) Both magnitude and sign of the charge on
the ion

(4) The sign of charge on the ion alone

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL E HCI + 40 mL iVI_O NaOH

10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCl + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?

1 b

(2) a

3 d

4) ¢

The solubility of BaSO, in water is
2:42x 102 gL' at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol_l)
(1) 108 x 10719 mo1? L2

2) 108 x 102 mol? 2

(3) 1-08x 10 * mol2 L2

4) 1-08x 10 mol? L2

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4-17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NH;4

(2) H,

3) Oy

4 Co,
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72.

73.

74.

75.

Hqifieh A it Na & Affshan e ® 9 B a1 2 ao
PCly % |1 STTTHIT W Wag C a1 & | B W C
gl S g T R e W SRS 3R U
BAT2 | A, BAammCHA B

(1) C,H5OH, CyHyg, CoHsCl
(2) C,H5OH, C,H,Cl, C,H;ONa
(3) CyH,Cl, CyHg, CoH50H

(4) C,H5OH, C,H;ONa, CoHCl

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
T Ufeehed SHES el & W fh gdw siffen g
e grEgiEH | qialdd sl 8 (e T 91 § A
e T § | (A) 7

(1) CH=CH

(2) CH, =CH,

(3) CH;-CH,4

(4) CH,

T Ak C, Hy Tfafaa stfufsransti & Torar 2 -

3 Clz/A Brz/Fe Zn / HC1
A B

C

(3) 3-3MM1-2,4,6-TEFARIIASA

(4)  p-SHIEIE

IHsd | Thid ue Ama fraed get & ffifa aegem
I HH-HT SATFATES TRV TeTh Tg7 & 2

(1) N,O5

(2) NO,

3) N,0

4) NO

72.

73.

74.

75.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, CoHg, CoH;5CI
(2) CyH5OH, C,H;Cl, CoH5ONa
(3) CoHjCl, CyHg, CoH5OH
(4) CyHzOH, C,H50ONa, CoH5Cl
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CH,;=CH,
(3) CH3-CHjg

(4) CH,

The compound C;Hg undergoes the following

reactions :
3Cly/A

Bry/Fe _ 7Zn/HCI
A —2 B =

7Hg
The product ‘C’ is

(1) m-bromotoluene

(2) o-bromotoluene

(3) 3-bromo-2,4,6-trichlorotoluene

(4) p-bromotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N,Oj
2) NO,
3) N,0
4 NO
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76.

71.

78.

79.

80.

et afifsran

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0
% o wgfer Tl 3 R sfere % w8 s
2

MnO; C,07- H'
(1) 16 5 2
2) 2 5 16
3 2 16 5
4 5 16 2

srfufsran & f=fefaa & @ - e s1feaw 3care
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
9 99 @ 3= T
=1 ag wa = g
3= d9 Ud 3= T

3= d9 g 1 T

AH=-XkJ?
(1
(2)
(3)
4)
3MTest g THieRoT | e Ui ‘o’ Tefd 8
(1) 79 93Tl & oca 9§

(2) 79 3Rl % A |

(3) T ved & Hex Iufedd fagd-aa &
(4) T U % ALY ATHYV TAl

e AR hI TR Tegel I I foha Sma 2,
Tl I Hife AR o foTq 7¢-317 A

(1) 37T gl 8

(2) TN Ear e

(3) fergm gt @

(4) ofdREfda war 2

Xy, Yo 3R XY I 7wy foRioH Sleti & Fuma
1:05:1 8 | XY % fmam & w¥edh
AH = — 200 kJ mol™! 2 | X, &l ey foritem it
&t
(1)
(2)
3)
(4)

200 kJ mol
100 kJ mol™*
800 kJ mol !
400 kJ mol*

76.

71.

78.

79.

80.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 16 5 2
2 2 5 16
3 2 16 5
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1)
(2)
(3)
(4)

Low temperature and high pressure
Low temperature and low pressure
High temperature and high pressure
High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D
(2)
3

density of the gas molecules
volume of the gas molecules

electric field present between the gas
molecules

4)

forces of attraction between the gas
molecules

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1)
(2)
3
(4)

is halved
is doubled
is tripled

remains unchanged

The bond dissociation energies of X,, Yo and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be

(1) 200 kJ mol™*
(2) 100 kJ mol™*
(3) 800 kJ mol*
(4) 400 kJ mol*
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81. fi=faRaa sifufshen sf@en # g&a 3eq P, Q 3 R

%I TEETHT
GRS
AICl,
© + CHyCH,CH,Cl ———3 >
(1) Og
e > Q+R
(ii) H3O*/A
P Q R
CH,CH,CH;  CHO
1 CH3CH, — OH
CH,CH,CH; CHO  COOH

Q0.0

CH(CHy,),

OH
@ CH3;CH(OH)CHj

3

OH
CH(CHy),
) @ CH; — CO — CH,

feafafgd 9 s-a Afte faewema a9 g
?7?

(1)

82.

LUERIE
LR IR
TAIEh ITFA
TATEEA

(2)
3
4)

81.

82.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCl,
@ + CHzCH,CH,Cl ———=—
(i) 0,
—— > Q+R
(i1) H3O*/A
P Q R
CH,CH,CH; CHO
(1) CH;CH, - OH
CH,CH,CH; CHO  COOH
) 0.0
CH(CHy), OH
3) CH,CH(OH)CHj4
OH

Which of the following compounds can form a

CH(CHy),
Nt

zwitterion ?
(1) Aniline
(2) Acetanilide
Benzoic acid

3

(4) Glycine

LAACH/PP/Page 22

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



83.

84.

85.

86.

87.

et [CoCly(en),] GRI SEfid THTSREIAT 1 JhR &
(1) Ao FETaadr

(2) SUHEHAS FHTSIEAT

(3) ARHEA HHTSR—EdT

(4) S gHTEEEdr

Fafafad § @ SH-A1 I d-d GhHYT ST § a9

1Y & SAgFehed i ?
9

1) Cro,

(2)  Cry02”

(3) MnO,

4) MnO;~

[Ni(CO),] G I <l we graehr or 3
(1) o T st o g

(2) TISHABE SATHIT Td Tfagraehi™
(3) o Ewael safifd wd e

(4) gherhia SR T SATFhTT
P e, Fe(CO); R

(1) ITHh5H
(2) THHGH
(3) Frehes
4) feros

Hram 1 # fgu MU g1 ST @ wiem 11 # fiu Mo
AT & WU gEEeh  oeEn 8 fEmsy qun
@1 weha 1 fAfdse hifvre

83.

84.

85.

86.

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Geometrical isomerism

(2) Coordination isomerism

(3) Ionization isomerism

(4) Linkage isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

2—
(1) Cr0]

(2)  Cry02~
(3)  MnO,
(4)  MnO%"

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) tetrahedral geometry and diamagnetic

(38) square planar geometry and paramagnetic

(4) tetrahedral geometry and paramagnetic
Iron carbonyl, Fe(CO); is

(1) tetranuclear
(2) mononuclear
(3) trinuclear

(4) dinuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Hicid 1 Hicrd 11 Column I Column II
a. Co’* i. 8 BM. a. Co®* i. 8 BM.
b. Cr** ii. 35 B.M. b. Cr3* ii. /35 B.M.
c. TFe¥* iii. 3 B.M. c. TFe** iii. 3 BM.
d.  NiZ* iv. 24 B.M. d  Ni?t iv. 24 BM.
v. 15 BM. v. 15 B.M.
a b c d a b c d
1 v v ii i 1 iv v ii i
2 i i ii iv @ i ii iii iv
3 iv i ii iii 3 iv i ii iii
4) i v i ii @ i v i ii
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88. fmafdfga # & ufeeament & -1 wu@ & ey o
H-A1 TE 8 ? (R = Ufeewrdt)

(D
(2)
3
4)

-NH; <-OR<-F
-NRy<-OR<-F
-NH; >-OR>-F

—-NRy>-OR>-F

89. fmfafigs 4 4 - wEwIRA waifas TorEh
afera & 2
NO,
(D ®
Y H
NO,
o )
Y H
NO,
3 g
v/ &
NO,
H
o v
90. fmfafga & @ fha oo & od @ gd & AR A

sp?, sp?, sp, sp HeHLT ST STl & ?
(1) HC=C-C=CH
(2) CH,=CH-C=CH
(3) CH,=CH-CH=CH,

(4) CHy-CH=CH-CH,

88.

89.

90.

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH;<-OR<-F
(2)
(3)
(4)

—-NRy<-OR<-F
-NH; >-OR>-F
—NRy>-OR>-F

Which of the following carbocations is expected to
be most stable ?

Y H

NO,
Y H
NO,
NO,
Y @

NO,

Which of the following molecules represents the

s

(D
(2)
3
4)

=<

order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(1) HC=C-C=CH

(2) CHy=CH-C=CH
3
(4)

CH, = CH - CH = CH,
CH, - CH = CH - CHj
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91.

92,

93.

94.

95.

96.

97.

... & rdERet ufasfa w1 e s wedvem
feraml Tt T ot ?

(1) Ha A

(2) Sfamy ¥

(3) urew

(4) foumog o

g HUH I T

(1) “dgerar’ wieg o1 FHaiv $epfor Tered o T |
(2) e =i ues fafewr aanfaes g foefaa foren mn

o |

(3) TATSHFIEH T H 9HT o 2 |
(4) YWSHAY hl WIS TH. 3Tceq™ J 6T off |

‘sriple’ fohdeh grT Icatfed B B 2

(1) g fawrsa g

(2) T faursE g

(3) A NeBeE g

(4) AN g

frafafed # @ ®F-91 9w 777 €9 ° gAkTd 7 ?
(1) HeUH HS &RAY0l  :  wgforbodl

(2) ABO W& dqgH : HEgWIlerd

(3) XO ¥R fom fagior @ feger

(4) A=, we HEAHT
frafafga @ & fored sus Sed o1t T Shaw T o1
& g B R 2

(1) | wfisfis

(2) A

(3) JMH

(4) Gdrar

T GHel ki AT :

(1) Tersh JhE — BerHind ZHH
(2) e BW MM Wi =W - At

(3) Ty BcEd IR Uh. WEd — 547 d2r3ad
(4) ThadTE Shd AUT g WIS — 7% TR
frafafga & @ s9-a W = e % w9 A
ieferd < § T Hiied g3 ?

(1) W fohe

(2) AFAM AT H=<: =

(3) Ich e

(4) TR

91.

92.

93.

94.

95.

96.

97.

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Bacterium

(3) Plant

(4) Virus

Select the correct statement :

(1) Franklin Stahl coined the term “linkage”.

(2) Punnett square was developed by a British
scientist.

(3) Spliceosomes take part in translation.

(4) Transduction was discovered by S. Altman.
Offsets are produced by

(1) Meiotic divisions

(2) Mitotic divisions

(3) Parthenocarpy

(4) Parthenogenesis

Which of the following pairs is
matched ?

(1) Starch synthesis in pea
(2) ABO blood grouping

wrongly

Multiple alleles

Co-dominance

(3) XO type sex Grasshopper
determination
(4) T.H. Morgan Linkage

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Jackfruit

(3) Mango

(4) Papaya

Select the correct match :

(1) Alec Jeffreys — Streptococcus

pneumoniae

(2) Alfred Hershey and - TMV
Martha Chase

(3) Matthew Meselson —  Pisum sativum
and F. Stahl

(4) Francois Jacob and -
Jacques Monod

Lac operon

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Cellulosic intine
(3) Oil content

(4) Sporopollenin
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98.

99.

100.

101.

102.

103.

104.

105.

Tl <t nifasfierar fead gwifeq 787 &t 2
(1) aoEE "

(2) THWH

(3) O, digar §

(4) CO, =Ed &

FHa T ORI T JUFRUT fohe Tawel § STREY
a1 & ?

(1) TYcIe

2 foug

(3) UIdsRA

(4) gWug

I % 1 Afereafores SricHs THg HH-9 8 2

(1) wrEeifeaa R afoe

(2) HEiA R A

(3) ST TR BiEhe

(4) el 3R BIFSIFa

frefafga @ @ FH-1 TF THE-GTAN0 HI TR

AffshaT o1 3cuTe 757 B 2

(1) ATP

(2) NADH

(3) NADPH

(4) Oxygen

o 1 ot § Ty S g B 2

(1) TR

(2) JFPHR

(3) AN

(4) TIARERR

Frafafad § @ wF-a1 wsh qdohgeht 787 7 ?

(1) d0arsdis

(2) TTEHIGFIRTT

(3) Ti&i®

(4)  3tECIRET

g o fou freforfiea & @ wH-= v 2 2

(1) fowfSa gt ifseprett @ a8 g 8d & |

2 uEffafmeas |

(3) TG AP &4 H W AT 2 |

(4) 98 UsAEWA RNA Evavol 1 fspamsfie woret
2

Tiestt @fey fred wmr o 8 2
(1) oH1 3T & HAIEA §
(2) @rEt gieehrati & s |
(3) Sampet § vae §

(4) UHH o & G §

98.

99.

100.

101.

102.

103.

104.

105.

Stomatal movement is not affected by
(1)
(2)
3)
(4)
The stage during which separation of the paired
homologous chromosomes begins is

(1) Pachytene

(2) Diplotene

3)
(4)

The two functional groups characteristic of
sugars are

(1
(2)
3)
(4)
Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADH

(3) NADPH

(4) Oxygen

Stomata in grass leaf are

(1) Dumb-bell shaped

(2) Kidney shaped

(3) Rectangular

4)
Which among the following is not a prokaryote ?
(1)
(2)
3)
4)
Which of the following is true for nucleolus ?
(1)
(2)
(3)
4)

Temperature
Light
O,y concentration

CO, concentration

Diakinesis
Zygotene

hydroxyl and methyl
carbonyl and methyl
carbonyl and phosphate
carbonyl and hydroxyl

Barrel shaped

Saccharomyces
Mycobacterium
Nostoc
Oscillatoria

Larger nucleoli are present in dividing cells.
It is a membrane-bound structure.
It takes part in spindle formation.

It is a site for active ribosomal RNA
synthesis.

The Golgi complex participates in
(1)
(2)
3)
4)

Fatty acid breakdown
Formation of secretory vesicles
Respiration in bacteria

Activation of amino acid
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106.

107.

108.

109.

110.

111.

TaEed H, WM % fakdiewm e emfras

HAtediom < fogfea # ffofga d @ s @@

3T % T H HE w8 ?

(1) Eq

2 Cl

(3) Fe

(4) TS

freafafaa # & w1 w fgdiaes ygmh 8 2

(1) €O

(2) CO,

(3) SO,

(4) O,

fipa FT R 2

(1) <fia = wferor 4 oyt Sfes s

(2) 8 ifeeh TAM STl b SHaerl T&dr &

(3) TUHM W 98 WH ST g W T & fo
=Tfeg

T g g fur ¢ wricrss fteR, ST a8
a1 8

Feferdt @ s srfium 7 2

1) FegR

(2) AL

(3) TETE i BISH aTel AT sh T

(4) U 3 H AT & A dTal hi q&

Frafafaa stieel & frm g o1 wiitfeufada ffis
e feRa ST 2

%ﬁ'ﬂiﬁw‘iﬂw:HOg

NWWW:GOg

eI IcUEH ;10 g

ST T 3t e

Fa1 1 fuifrs

(3) @ & Har g

(4) Staumn 1 dar fifre

forea 3 feaw e o ST @ 2

(1) 53

(2) 2131
(3) 16 faamr
(4) 2230a

4)

(1)
(2)

106.

107.

108.

109.

110.

111.

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(D
(2)
3
(4)

Carbon
Cl
Fe

Oxygen

Which of the following is a secondary pollutant ?
(1) CO

(2) COq

(3) SOy

(4) Og

Niche is

(1

all the biological factors in the organism’s
environment

(2)
3

the physical space where an organism lives

the range of temperature that the organism
needs to live

(4)

the functional role played by the organism
where it lives

Natality refers to

(1) Death rate

(2) Birth rate

(83) Number of individuals leaving the habitat
4)
What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Number of individuals entering a habitat

Primary consumer : 60 g
Primary producer : 10 g
(1)
(2)
3)
4)

Inverted pyramid of biomass
Pyramid of energy

Upright pyramid of numbers
Upright pyramid of biomass

World Ozone Day is celebrated on
(D
(2)
3)
(4)

5% June
215t April
16th September

gond April
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112.

113.

114.

115.

116.

117.

HHE R § €.TH.T. & Th ghg o HavH o g
Freafafaa 8 @ S9-a1 99 am=Ia: S R S
27
(1)
(2)

TS (el F15TH)

Ti wTfsHs

3) rABS

(4) pBR 322

et I9AM % foIw ergafirRa: waaid el %
Yo % R H GUEAT o Yodiehd o U WA H hi-a1
TS IR B 2

(1) IR AT 3ae™ 9Rwg (ICMR)

(2) dmTie Td e SIgEYH ufyg (CSIR)

(3) 3Taf YiETer sgayH Afdfd (RCGM)

(4) STgafe METEER Youre |fifd (GEAC)

e faesht ot g =mae itk A9 foher i Uewe
(wehear) Teparm o e, Trarfy O fored wRa ° orve T
g foemm £ | a8 fhae arafaq 2 2

(1) Co-667

(2) et HERT

(3) < U

(4) <TEHEd

&gt gael i AT :

(1) TSI -
(2) Fyx HAIHE b —
(3) dw=w. HEH -
(4) <ft. Head -

SEU FERE ot G g R S o 3w
At <t fomr srqafta o StewwmeEr % ITE w6 oFn
el ST & ?

(1) Sa-3ge

(2) SwETRE (S T

(3) J9-3TEeH

(4) o381

UifcTs J@en AR (PCR) H <R &1 €&l A
CRI i

(1) fowawon, fospeieton, SwieH

(2) oFfieH, fawa, foshdien

(3) fTaepdietor, foeawor, swiem

(4) Taepdieton, orfiem, foreao

el
fgEet shig
TThAT
BT

112.

113.

114.

115.

116.

117.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(D
(2)
3
(4)

Retrovirus

Ti plasmid

2 phage

pBR 322

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Research Committee on Genetic
Manipulation (RCGM)

(4) Genetic Engineering Appraisal Committee
(GEAC)

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to
(1) Co-667

(2) Sharbati Sonora

3)

Lerma Rojo

(4) Basmati

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) FyxRecessive parent — Dihybrid cross
(3) T.H. Morgan — Transduction
(4) G. Mendel — Transformation
Use of bioresources by multinational companies

and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

Bio-infringement
Biopiracy
Biodegradation

Bioexploitation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D)
(2)
3
4)

Extension, Denaturation, Annealing
Annealing, Extension, Denaturation
Denaturation, Extension, Annealing

Denaturation, Annealing, Extension
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118.

119.

120.

121.

122,

123.

124.

feefioreft a9 @ fedioes g™ 3 welien fhad Scadt
B E 2

(1) ey favsan

(2) §aEd T

(3) ShINH

(4) el fawsn

Y- fope Bieft § 2

(1) oy |

(2) TIGA-ICATTS STAgIg §

(3) HETER dredt

(4) SoHH g o

Tehiehe TehEehT T & 2

(1) q-1

(2) sTaETie qa

(3) HI A

(4) g

Fr=fefiga @ @ =9-a1 U &g ® 2

(1) SHgaeiir § deme sverm fafa gro aiteg
T B |

facfsder e fawmeismg aen 8, S
Godlf7 T THSIST] 9Tl 7 |

FeeH SISt 7 |

GrEhd N gy AT B HATURGET 9 ITenRad
B E |

TAT HAA I AT :

(1) <haehl 3T UEY SITd & He&Al | whifsrenr fufa
39feord it 8 |

BIh! ol Gy AT U R |
TAUFNSAA | 91eT = 3 e T 0 A <hl
AT F

T Sl Bight aft Sfasrmal &t HIfsesr o
AHURIT Teh AFATE § |

et afgai wal gl § ?

(1) Selcd=

(2) uRTH

(3) dehe
(4) A==

Iz Ted HH-8 7 T e gfg o o foespa @
Bt ?
(D
(2)
(3)
4)

(2)

3
(4)

(2)
(3)

(4)

i)
gofarelt STaeish
FHUR
TT3heH

118.

119.

120.

121.

122,

123.

124.

Secondary xylem and phloem in dicot stem are
produced by

(1) Apical meristems

(2) Vascular cambium

(3) Phellogen

(4) Axillary meristems

Pneumatophores occur in

(1) Halophytes

(2) Free-floating hydrophytes

(3) Carnivorous plants

(4) Submerged hydrophytes

Sweet potato is a modified

(1) Stem

(2) Adventitious root

(3) Tap root

(4) Rhizome

Which of the following statements is correct ?

(1) Ovules are not enclosed by ovary wall in
gymnosperms.

(2) Selaginella is heterosporous, while Salvinia
is homosporous.

(3) Horsetails are gymnosperms.

(4) Stems are usually unbranched in both

Cycas and Cedrus.

Select the wrong statement :

(1) Cell wall is present in members of Fungi
and Plantae.

(2) Mushrooms belong to Basidiomycetes.

(3) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(4) Mitochondria are the powerhouse of the cell

in all kingdoms except Monera.

Casparian strips occur in

(1) Epidermis

(2) Pericycle

(3) Cortex

(4) Endodermis

Plants having little or no secondary growth are

Grasses

(D

(2) Deciduous angiosperms
(3) Conifers
(4) Cycads
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125. ffafied & @ #-51 777 &9 ° goferd g 2
(1) TUHSIMh Wb —  GHTGEHINIT
(2) foromfies =eeiemy — R Har
(3) S gt —  TEfET
(4) THHIRH S —  FAReT

126. T I | & TE el o1 TR 11 < Hel § e hifsg

I = for wu fasmedt § @ @t faswew w1 =

i.

iii.

c
iii
i

iii

i

&aeiy IT
fteferd argai 3 ST=qai <
U 1 Teh LM |
T &7 § g T3 Al iRt
1 fafagees T #d gy SR
3T TgEH I g & faw
e quM Fd g TH g |
THT €A &l Ied A b
g@THt 3 TR T T
AT T TG T 8 |
T qicaert e @emon <t g
3 3% ke B & S
fafirr onfepl <t vg=m @ &
HER B 7 |

d

i
iv
i

ii

128. ffafigd @ @ forad hrgspaed ot stdgEfaaSH
% qgETq STy SfEeiid €9 399 Bd 7 ?

Eﬁﬁl‘l :
Ty [
a. eI
b. it
c. GUEEH
d. g
(Serarm)
a b
1 i iv
(2) i i
3) ii iv
(4) i iv
127. 99 TRyl fohEd g @ 2
(1) @@
(2) TrEHE
3) M
4) 9E7g
(1) =pieanr
(2)  STEHRIT
(3) UIRHT
(4) Q0TI

125.

126.

127.

128.

Which one is wrongly matched ?
(1) Uniflagellate gametes — Polysiphonia
(2) Biflagellate zoospores — Brown algae
(3) Gemma cups —  Marchantia
(4)  Unicellular organism - Chlorella
Match the items given in Column I with those in
Column II and select the correct option given
below :
Column I Column 11

a. Herbarium i. Itis aplace havinga
collection of preserved

plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are

kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

a b c d

1 i iv iii ii

(2) iii ii i iv

3 ii iv iii i

(4) il iv i ii

Winged pollen grains are present in

(1) Mustard

(2) Cycas

(3) Mango

(4) Pinus

After karyogamy followed by meiosis, spores are

produced exogenously in

(1) Neurospora

(2) Alternaria

(8) Agaricus

(4) Saccharomyces
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129.

130.

131.

132.

133.

134.

135.

HIRTHT va@T & NAD* 6t yfirst 51 2 2

(1) 9% U U159 o &9 § Hd Ll 3 |

(2) 9T T g dATEHh o &9 H HE LT 2 |
(3) ggq‘ﬁ.ﬁ.ﬁﬁw%m@m@ﬁ
|
ggmwﬁaw%mmﬁusé@hm
|

foreH TeRTT-HYNl § IS 7g7 feherd! 2

(1) I Fow SFAfEn

(2) T

(3) &Py

4)

T HUT HT TR § AN o U g@ AsgeH § foRw
AU W HUSROT {3 T Fehal B 2

(1) -120°C

(2) —-80°C

(3) -196°C

(4) —160°C

qTedi gl A8 o1 rasyer fefeifiga § @ foem w9 4
BT ® 2

(1) i

(2) w™

(3) Had da

(4) Wit 3 %m gl

ey = = g 2

(1) Th T FeA R JwR w A IS
1Y HAa

Teh T I I &1 GaTd hrgehl o 1Y T
(3) T R DI I Teh S o WY T

(4) T GorA ST FEeH

frafafga @ @S- o= SRt § Thifd s=mu
T & fofu Seerf B 2

(1) e

(2) wifsTm

(3) urefrm

(4) Ffewrm

frafafga @ @ -5 91ew Iy < T a5 a1

T ke wrary quitdn @, fem &8 ff tHgm % fo
3T SfTe =15k U1 787 L TRl ?

4)

(2)

(1) el
(2) FaHl
(3) el

(4) e

129.

130.

131.

132.

133.

134.

135.

What is the role of NAD* in cellular

respiration ?

(1) It functions as an enzyme.

(2) It functions as an electron carrier.

(38) It is anucleotide source for ATP synthesis.

(4) It is the final electron acceptor for anaerobic
respiration.

Oxygen is not produced during photosynthesis by

(1)
(2)

Green sulphur bacteria
Nostoc
(38) Cycas
(4) Chara

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C

(2) -80°C

(3) —-196°C

(4) -160°C

In which of the following forms is iron absorbed

by plants ?

(1) Ferric

(2) Ferrous

(3) Free element

(4) Both ferric and ferrous

Double fertilization is

(1) Fusion of two male gametes of a pollen tube
with two different eggs

(2) Fusion of one male gamete with two polar
nuclei

(8) Fusion of two male gametes with one egg

(4) Syngamy and triple fusion

Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Magnesium

(2) Sodium

(3) Potassium

(4) Calcium

Which one of the following plants shows a very

close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2) Yucca
(3) Banana
(4) Viola
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136. EHdT w1 SHT W & foU 39U M-8 gHE @ifdd | 136. Hormones secreted by the placenta to maintain
Exnll % ? pregnancy are

(1) hCG, hPL, Soreersm, S (1) hCG, hPL, progestogens, prolactin
2 hCG. hPL E RS I (2) hCG, hPL, estrogens, relaxin, oxytocin

(3) hCG, hPL, TeESH, TEISH
(4) hCG, progestogens, estrogens,

(4) hCG, TSESH, TEISH, TehhiehITS glucocorticoids

(3) hCG, hPL, progestogens, estrogens

137. The contraceptive ‘SAHELI’

137. mifF0Es ‘geel (1) blocks estrogen receptors in the uterus,
(1) TS § TEISH UTEl hl Ta%g hidl & Td 3Te preventing eggs from getting implanted.
o YT k1 Ushd! B | (2) increases the concentration of estrogen and
(2) et @Tﬂ £ Wz ® s 2 prevents ovulation in females.
siereEt 1 Tt B | (3) isan IUD.
(4) 1is a post-coital contraceptive.
(3) THIUDR |
(4) TH q-ga_ﬁ%q Y 3 ) 138. The difference between spermiogenesis and
spermiation is
(1) In spermiogenesis spermatids are formed,
138. [HIVSHA Td IV (FAHURM) | 1 3= 3 ? while in spermiation spermatozoa are
(1) YR § GRS, T4 8, Fh Yo formed.
IERTY] A B | (2) In spermiogenesis spermatozoa are formed,
. ; ! while in spermiation spermatids are
® b W G, i formed. ’ ’
RIS 5 & |

(3) In spermiogenesis spermatozoa from sertoli

(3) IEAISEA W YGRS 1 HIicl IR |
Wehors Afrhie 1 it # AEA B R,

cells are released into the cavity of
seminiferous tubules, while in spermiation

Seifeh YER1IE H b1y A & | spermatozoa are formed.

(4) IV B OIERY] §9d 7, St IEREE § (4) In spermiogenesis spermatozoa are formed,
YIS HI HCl  HINTRIST & YehoH® while in spermiation spermatozoa are
ATttt bl E%Em o H=- g1 § | released from sertoli cells into the cavity of

seminiferous tubules.

139. TATEh YO1 b1 YorsTel 3l oot foherdl st @ 2 139. The amnion of mammalian embryo is derived

(1) STl Td HEASHER from

@ . QEI - (1) ectoderm and mesoderm
) (2) endoderm and mesoderm
(3) HEISER T WIYhIeh

(3) mesoderm and trophoblast
(4) TEIcar= U JAEcal (4) ectoderm and endoderm
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140.

141.

142.

143.

144.

T o1 I Tedl g3 e J

(1) SAYd afse Sew safseai & 31fdre 8 8 |

(2) AW s FHHIR SAfseai & 9 2d 7 |

(3) SFEW TWH SHMYE e W@ H OSUeR '
g 1

(4) g =Afse Fem safeest & %A 8§ |

frefafaa & sH-w1 ‘STeea™ weor § 737 3 ?

(1) =-fg %R arh
(2) Yl 3qaq

(3) dHEaldh 3TN

(4) o =%

“Cisp” s g UREAT WY o foRE W uTed Bt 8 2

(1) g ¥
(2) T
(3) weid
(4) Ui @

ey 18 & 78 93 o1 wary 11 9el § faam i
IR = few U fowmeut @ @ @E? fawew w1 =H

i
&7y [ &7y I1

a.  gamwom i. UV-B fafero

b. afed defha i, S

c. Teurua (v saEew) il W Tfg

d. 3@ Ed iv. smufirse faem
a b c d

(1) ii i iii iv

(2 i iii iv ii

(3) iii  iv i ii

4) i ii iv iii

freafafga @ & faferean fomm 4 wfaifess % sered
g wmfee &1 H-# arEafes fhan sgen s
STt 2 2

(1) @@
(2) EEITHIT
(3) uEShiferar
(4) TS

140.

141.

142.

143.

144.

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive individuals are less than the
post-reproductive individuals.

(3) reproductive and pre-reproductive
individuals are equal in number.

(4) pre-reproductive individuals are less than

the reproductive individuals.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Sacred groves

(3) Botanical gardens
(4) Seed banks

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers
(2) Latex
(3) Roots
(4) Leaves

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) i i iii iv
2 i iii iv ii
(3) it iv i ii
4) i ii iv iii
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Mutualism

(3) Parasitism

(4) Amensalism
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145.

146.

147.

148.

149.

150.

6 UgraTsie o (RER) # Fmfafga & @
HH-H T 737 Bt ?

(1) IEH 1 ae

(2) TIEH I TATEHIHATH

(3) Hohd UWISS I face™

(4) HEpfafie gvayy

T U HA-T1 A Te7d © ?

(1) TCA sk % USlT3H GAHTRT o nurh # oo
3 |

TATSITATIH hIfIThITITT § U= Bl 3 |
TATEHITATEE T8 b BIAT 8 9d ah SH BI3gIeH
AT ST I3M o fotw NAD firerdn & 2 |
SMfeefiehtolt  HICHINAIRT Tt T sTa
forgh o mfed gan & |

950 ¥ UEEH T mRNA & Heg I Thar
giferieerge i s Ifaal a=1d & | UsaEm hl U

(2)
3)

4)

STGEIST I FAT FHEd 7 ?
(1) &g

(2) wEa fiug

(3) wifEcem

(4) fgs™

Tera e &1 === Hifse

(4)

et & fivg gera: foras o4 2ia & 2
(1) WA v fafre

(2) DNATE RNA

(3) fFcs 37 g SER

(4) Y* T Ud RER

fFrafafega & @ w98 witnfys ssg e gdafa=ma
%! aftfa o 8 2

(1) e, feamed, swedt

(2) TriEd, fgamEd, fowmed

(3) UTwdEd, TeheRadT, FHadt

(4) e, foamed, fomwedt

145.

146.

147.

148.

149.

150.

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
3
(4)

Protein folding

Protein glycosylation
Cleavage of signal peptide
Phospholipid synthesis

Which of these statements is incorrect ?

(D

Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)
3

Glycolysis occurs in cytosol.

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.
Many ribosomes may associate with a single

mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(D
(2)
3
(4)

Polysome
Polyhedral bodies
Plastidome

Nucleosome

Select the incorrect match :

(1) Lampbrush — Diplotene bivalents

chromosomes

Allosomes Sex chromosomes

(2)
3

Submetacentric
chromosomes

Polytene
chromosomes

L-shaped chromososmes

4)

Oocytes of amphibians

Nissl bodies are mainly composed of
(1)
(2)
(3)
(4)

Proteins and lipids

DNA and RNA

Nucleic acids and SER

Free ribosomes and RER

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Thecodont, Diphyodont, Heterodont

(3) Pleurodont, Monophyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont
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151. & 1§ < 78 He) o1 vy I <h1 7el ¥ fyem Hifse

IR f= few MU fowmedi & @ @E? fasey w1 T
Hifsa :

ey 1

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
Sret o ik T H
HUE B

b. TmRE ii. g H fopeefera oemn %
fiug
c. gFhE g iii. =BT B Tgrgehdl

iv. T3 H o[HE HT BT

a b c d
(1) i ii iv i
(2) i ii iii iv
(3) ii iii i iv
4) iv i ii iii

152. T 1 ° & TS #el 1 &ar 11 <h1 #7ef 9 fira Hifsg

IR i few U fomewi 0§ @E? fawew &1 WA

T ;
&Y [
(F1%)

a. offigen Feed i
b. T 1 HGW ii.

ey I1
(3eGi+ TF BT YTT)

FESRIN
TaTteft

c. TIAH AWEA il TEE
d. TAREET v, HAUN HOER
v. EHIOEy Hafad At
a b c d
1 v v ii iii
@2 iv i ii iii
3 v iv i ii
4 v iv i iii

151.

152.

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) i ii iv i
2 1 ii iii iv
3 i iii i iv
4) iv i ii iii

Match the items given in Column I with those in

Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b.  Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 iv v ii iii
(2) iv i ii iii
3) v iv i ii

4) v iv i iii
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153.

154.

155.

156.

157.

158.

ISP HIATH o URE hl Ay TEAT T HHAFCT
TeruTeRT 3TTETT & ?

(1) gHJATaan

(2) oaEdal

(3) vt foemm

(4) 3Fgepait faferto
Frefefiga # @ wi-an wayfaen o 757 § 2
(1) =il

(2) 9 Tfersmey

(3) TAWTEH I

(4) fafefemm

Fr=feifea et o & Iereen 0 9 7e7d faseq
T T HIT :

(1) THdE, TS Ud =idl o 3T

(2) =HIGS, WA T =il I &ed

(3) =WIGS, WA Ud <Id1 1 HiEdTSh

(4) SATFIH, TTCS TG HH 6l 311G
Frafafga siftraentt 8 @ SR-8 a7s7 § Sfw ant &t
RIS oh! ST & 2

TTferar

LR IER)

ERENIS]

31Ut wferar

CESIEIERIUIT

b, cTd e

a,b@ic

(3) b,dTd e

(4) a,cTde

frm T § mest g TEfd TMY] % RO SR
arfaf o ferepret TN 3cua graT B 2

(1) Ul

(2) UEhRufem

(3) Torad T

(4) srifoufm

39 % T OH AR W ZEhH TS WH &N
forerhl gfg o o it 2 2

(1) faerfm D

2) faarfm A

(3) Totftd Byy

(4) foafm E

o e T

(D
(2)

153.

154

155

156

157.

158.

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2) Analogy

(3) Convergent evolution
(4) Adaptive radiation

Which of the following is not an autoimmune
disease ?

(1) Psoriasis

(2) Rheumatoid arthritis
(3) Alzheimer’s disease
(4) Vitiligo

Among the following sets of examples for
divergent evolution, select the incorrect option :

(D

Forelimbs of man, bat and cheetah

(2) Heart of bat, man and cheetah
(3) Brain of bat, man and cheetah
(4) Eye of octopus, bat and man

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

¢ Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1)
(2)
3)
4)
In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1)
(2)
3)
(4)
Conversion of milk to curd improves
nutritional value by increasing the amount of
(1) Vitamin D

(2) Vitamin A

(3) Vitamin By,

(4) Vitamin E

b,cand e
a,bandc
b,d and e

a,cande

Elephantiasis
Ascariasis
Ringworm disease

Amoebiasis

its
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159.

160.

161.

162.

fferfaa & @ wi-an g Wi sret 8 ogeqs g
27

(D
(2)
3
4)

MEEE]
TFSTSHA
TSI
ufezatia

frafafga & @ SH-H GEAT Ayar & 396 w4
TeTd &9 9 Ifd g 2

T SATeANel : YaE U9 ged IRE= gitadt
=i fFEfa = |

: dgeT o & A1 ufeash %
foftm &= =1 etE 4 Sed
&; Tifer =1 forror e |

: fomr=am gl o1 3caTed T
AIUH, & qAT AT
T T |

. 9T¢ Ug gl gAfEash Moyt
%I S84 aTel dqaii <l gl |

(D

2) fafas a3

(3) TRASTHE

(4)

s § & feu gl 6 s § ged
Yokt 8 ?

(1) TUeSEe T Wieifaed

(2) ISR T VeeeddH

(3) UESH Td JIATSUSES BHM

(4) UUATSUES BHMA T Fiifaed

AFa 99 § yres <u fhEes g 3 T¥H W &l
22

(D
(2)
3)
(4)

TEATY H W IS TYA gRI
msiE T I8 WS gh

i | S feeedt e g
vy S ¥ I et ufde g

159.

160.

161.

162.

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine

(2) Ecdysone

(3) Estradiol

(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

(2) consists of fibre
tracts that
interconnect
different regions of
brain; controls

movement.

Limbic system

(3) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

(4) band of fibers
connecting left and
right cerebral

hemispheres.

Corpus callosum

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin

(2) Progesterone and Aldosterone

(3) Estrogen and Parathyroid hormone

(4) Parathyroid hormone and Prolactin

The transparent lens in the human eye is held in

its place by

(1) ligaments attached to the ciliary body

(2) ligaments attached to the iris

(3) smooth muscles attached to the iris

(4) smooth muscles attached to the ciliary body
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163.

164.

165.

166.

167.

168.

frfefiga Sqeit @ & S8 I FETE 77 H ?
(1) hgeT

(2) ke

(3) wHi¥

(4) TERGI

FREH! FE % I I=q3ll ! GGG HIWC S 3T
e 7 | i ud fiee g erfvafera §

(1) fepfemm

(2) fen

(3) U

(4) eAfeeses

frfafed 4 & -8 e #g@ril § ged 3caesh
9§ S G @ ?

(1)
(2)
(3)
(4)

ffafed & & wi-a1 9=q Toard 757 8 2
(1) v

2) @

(3) @dorm

(4) g

fafereem s @it Teser! & fhe R fim & 2

(1) I T o foTu SHamfiyert 1 T Hd &

(2) T Afafad a1 febe & fore dgpasfia
ot Bt

Y TR ! Tehed o foIT aremy 1 T i @
3T 1 TR &% hrgeh B 3

Frafaflga @ @ ®H-8 @0 | FiRi= i TgaH qQ
HIHUT T Hd 3 ?

(1) ¥ I @ W AihT o FAHR sl IJAFEY
3ufeerfa

=8 I I IueAfd

TE YER HT=se dfgd 310 1@

e ol Iufefd

(3)
(4)

(2)
3
4)

163.

164.

165.

166.

167.

168.

Which of the following animals does not undergo
metamorphosis ?

(1) Earthworm

(2) Tunicate

(3) Moth

(4) Starfish

Identify the vertebrate group of animals

characterized by crop and gizzard in its digestive
system.

(1) Amphibia
(2) Reptilia

3)
(4)

Aves

Osteichthyes

Which of the following organisms are known as
chief producers in the oceans ?

(D)
(2)
(3)
(4)

Dinoflagellates
Diatoms
Cyanobacteria

Euglenoids

Which one
homeotherm ?

(D
(2)
6))
4)

of these animals is not a

Macropus
Chelone
Camelus

Psittacula

Ciliates differ from all other protozoans in
(1)
(2)

using flagella for locomotion

having a contractile vacuole for removing
excess water

3
(4)

using pseudopodia for capturing prey

having two types of nuclei

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternum on the
9% abdominal segment

(2)
3)

4)

Presence of caudal styles
Forewings with darker tegmina

Presence of anal cerci
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169.

170.

171.

f=fefiaa & @ wi9-an faehey swaw: @ 3R aaehifa
T %hel hl auT ! 3 T 9 eiar B 2

(1) a4 M; 9 gdg | HH

(2) voEfeT hI G § fuehdr; O Hag H
Sferehdn

(3) YIB! Tag | ITferehdr; yadfen § WY

(4) vag! gag § &Y yaElTeht § My

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
s =9 feu U foswmedi & @ @E Oy w1 ==

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. o wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 11 i 11
2 1 11l 11
3 1 11 i1
4) 1 i i1

ey 18 & 7S Hel o ey 11 9el § faam il
3t fiw few U fashedt @ ¥ &gt foaew &1 WA
Hifs

&y [
a. AN AAA i.

b. JawEEd giEa i

TEy Il
2500 — 3000 . <.
1100 — 1200 fir.=f.

AT

c. Trvam gdfem iii. 500 — 550 fr. <.
CIDGES

d. 3rafyre e iv. 1000 — 1100 fir.<ft.
a b c d

(1) i ii i iv

(2) iii i iv ii

(3) i iv ii iii

4) iv iii ii i

169.

170.

171.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface

(2) Increased number of bronchioles; Increased
respiratory surface

(8) Increased respiratory surface;
Inflammation of bronchioles

(4) Decreased respiratory  surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) il i ii

2 1 iii ii

3 i ii iii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

Inspiratory Reserve  ii.
volume
c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
(1) it ii i iv
(2) il i iv ii
3 i iv ii iii
4) iv iii ii i
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172,

173.

174.

175.

176.

T S & HIfeT 59 H T AGGTATCGCAT 2 |
3% g IFRad mRNA T Helferd shH 1 SR 2
(1) AGGUAUCGCAU

(2) UGGTUTCGCAT

(3) ACCUAUGCGAU

(4) UCCAUAGCGUA

M g AT % ogEr fawm &1 fRanfafy fore wer
B 2 2

(1) SgOT eaiaaq

(2) @eIH

(3) <iffeh gva &9 qiEd (SOt fafierar)
(4) Y ScAiEdA

ey 18 &) 78 93 o1 Ty 11 9e § faam il
IR o few MU fawmewi @ @E?t famew w1 W

HIT

&ey [ ey I1
a.  SYUGHId UEEAT i, TYTIR 7% o foere
b. @l gTEE ii. geehr STewn
c. FRgaE iii. drafivg graEen
a b c
(1) i i i
2) i i ii
(3) ii i i

(4) iii i ii

T it o Tk X UG § X-HerH 3TEEdT 7 | I8 O
fopil ST g 2

(1) <haet gom o

(2) had g H

(3) haet draT-gifer /Areft-Afe &

(4) oA ud g gl |

90 W HIH-AT ST T 90 TgT B ?

(1) Y=o

(2) HLEATHS S

(3) T
(4) 3FH

172.

173.

174.

175.

176.

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(D
(2)
3
(4)

AGGUAUCGCAU
UGGTUTCGCAT

ACCUAUGCGAU
UCCAUAGCGUA

According to Hugo de Vries, the mechanism of

evolution is

(D
(2)
3
(4)

Multiple step mutations

Saltation
Phenotypic variations

Minor mutations

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II
a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase
c. Menstruation iii. Luteal Phase

a b c
(1) it ii i
2) i iii ii
3) i iii i
(4) il i ii
A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by
(1) Only daughters
(2)  Only sons
(3)  Only grandchildren
(4) Both sons and daughters
All of the following are part of an operon except

(D)
(2)
3
4)

an operator
structural genes
an enhancer

a promoter
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177.

178.

179.

fFrafafaa & 9 wH-H 5t Fifyed g ®9 9
T3 § Wgg hidl & ?

(1) T Hifdepnd

(2) TOTSHT SHIRTHIT

(3) A (Mecie) HITIHIT

(4) fixfi Sifsrenrd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

&y I &y I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c. UeeE iii. i fparfafy
a b c

(1) i ii i

2 i ii iii

3) i i ii

4) ii i i

hepTel URf Hepad | hicWam Haw@qul & ifh I8

(1) 9T O et e o ik Tod &
I g2 o 2 AR % o |

AR TS & et 30 fhamsiie et 7 |
UfeFe ag & TR Sfi T ST X A R |

IENfEE ig Ag SR Uded dq & wed ITEy
fomfor =67 ket 2

(2)
(3)
(4)

180. ffefad § & =urewRies voua foepr =1 e ==

3?
1)
(2)
(3)
(4)

wfem
Tafeemmar
sigfesn
Fraehifa

171.

178.

179.

180.

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Chief cells
(2)  Mucous cells
(3) Goblet cells
(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) il ii i

(2) i ii iii

3) i iii ii

4) i iii i

Calcium 1is important in skeletal muscle

contraction because it

(1) Dbinds to troponin to remove the masking of
active sites on actin for myosin.

(2) activates the myosin ATPase by binding to
it.

(3) detaches the myosin head from the actin
filament.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

Which of the following is an occupational

respiratory disorder ?

(1) Anthracis

(2) Silicosis

(3) Botulism

(4) Emphysema
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